Puzzle Test | Uel ThHaor |

Analytical reasoning is a complex statement
that displays ambiguous meaning even after it is
true, but it gets a completely clear meaning when
it is represented in a hierarchical tabular or
logical approach.

Analytical reasoning consists of a set of
questions based on a set of several complex
situations. They contain many types of
information, which are identified, divided into
several parts, to explain the meaning, which is
called 'Conclusion'.

In the questions asked under analytical
reasoning, we first identify the statement that
contains the most information. After this, they
harmonize from one statement to another and
solve the information given under the puzzle
separately.

Questions based on analytical reasoning can be
divided into four parts.

(1) based on arrangement

(ii)  based on comparison

(iii) Based on relationship and business
(iv) based on position

fageTooeae: qeh i Tk UM Sifedt e &, S 9
T e ot 3TEree 37 <RI §, Ak Sq HHeg afcides
=1 AMfeheh greshiv 9 FIEfd it T qoid: a6 379 T era
K
forgeToTee: qeheIfeR & ST=IId e Sifea fefadi & 998
TR AR T o =T BN © | TTH g ThR i SR
Bt ¥, = Teamant, &g umi # fawfea &, S99 o1ef oy
o <t &, fo19  ferl " shed B
ToreeToTOTCHe: TehRTfoRT o ST e ¢ WeA1 H Haged 9
HYT H T A © ToTEH Tod Tk SRR W 2t © 1
THE YA T FU W TR FUA § A Tfd R € qe
TRl o ST SF T8 ST bl ST 3TeT Tieh B hid
gl
forgeTeToTeeh Ten vTfert TR STTenfid UeH1 ol =R umi | foanfsa

e <1 wehan §—

(i)  =FerE W STHid

(ii) g = smeEnia

(iii) T e =HEE™ | snenia
(iv) feafqd = smenfa

Directions (Q. 1 to 3): Read the following
information carefully and give the answers of the

given questions.

e (U9 1 @ 3 T&): 9§ T TSR F €
AYEE STATH Feh ST T A % I e —

T, V, W, X, Y and Z live on a separate floor
of an 6-floors building. Ground floor is numbered
I, first floor is numbered 2 and so on until the
topmost floor is numbered 6.

T, V, W, X, Y Td Z U% & ARG &I STW-TeT]
TiSe W T E1 5o TR T ¥ A B: G a §)
(e T 1.36% FW TR 2. 3R 36 IR f 36 We
TN Tl S0 BT &1 T=R 6 T1)

There are two floors above the floor on which
X lives. T lives on an even numbered floor. Only
two persons live between the floors on which T
and Y live. V lives on the floor which is
immediate above the floor on which Z lives.
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o Afse | X =@ §, 39 W A AR €, T 64
e el Bl W T ¥1 T e Y 59 Al W
I o= 1 Al W e a1 A & §, 99 A6Ee W 2
@l 8, V 30 THSH T HI A W T B
1. Who among the following lives on ground

floor?

frefafed § ¥ qoa W FH T 72

(A) W B)Y

(C) Z (D) Can't be determined/

Freifta 7@ foran s wehan

2. W lives on which floor?
W frefafed § & fre bfsa = @@ §72
(A) First/g&d (B) Fifth /dr=eit
(C) Sixth /=t
(D) Can't be determined /fifka =& foran < weran
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3. Who among the following lives on the floor
which in the middle of the floor on which X
and V live?

forg ofSe WX T8 V & T, 37 3t sl &1 1fea ™

frefafed 8 9 #F wa g ?

(A) Y B) Z

() w (D) Can’t be determined/
Treifia 2t feran ST wehar

Directions (Q. 4 to 11): Read the following
information carefully and give the answers of the

given questions.
R (T4 11 7F) : T T THAR 1 YR
ST FHileh QU T TEAI % ST alford —

Eight persons from different banks viz. UCO
Bank, Syndicate Bank, Canara Bank, PNB, Dena
Bank, Oriental Bank of Commerce, Indian Bank
and Bank of Maharashtra are sitting in two
parallel rows containing four people each, in such
a way that there is an equal distance between
adjacent persons.

faf\= St S UCO o, fafeshe s, % o, PNB, <1
% 18 SATh IR-TR AN ATl 31 TR Gfha) § 36 TWe a3 §
o sTer-ame & afe & ot WEE g

In row-1: A, B, C and D are seated and all of
them are facing south.In row-2: P, Q, Rand S are
seated and all of them are facing north.
Therefore, in the givenseating arrangement
each member seated in a row faces another
member of the other row. (All the information
given above does not necessarily represent the
order of seating as in the finalarrangement).

-1 H A, B, Ca D 3% IR 37 weft 1 He <feqor 1 iR
TUB-2HP, Q, RT S T3 T IR 7 Wt 1 He ST 1 I T,
THfeTT < T Saeh craen H T Uit | S U 9es 1 He g
Hfth § S 379 T &l AR T (A el o S &1 1 W
SR A< =raeen § 37 & %Y 8 Fefyd Fd 2)

(i) C sits second to right of the person from
Bank of Maharashtra. R is an immediate
neighbor of the person who faces the person
from Bank of Maharashtra.

C S St TERTSE & A & <8 I T WH WAATI R
T A i STl H a1 & FSTeent Hg 5k 31t HeRTSE o At i
AT

Puzzles Test | it G&m

44

(ii) Only one person sits between R and the
person from PNB, immediate neighbour of the
person from PNB faces the person from Canara
Bank.

R 9 PNB & =t & S shaiel Ueh AT o131 €, PNB & s
T 93 =6 1 q@ HR 9% & ATH HI 3R ¥

(iii) The person from UCO bank faces the
person from Oriental Bank of Commerce, R is

not from Orintal Bank of Commerece. P is not
from PNB. P does not face the person from Bank
ofMaharashtra.

UCO & & S 1 4g NRT0ed 5 31 & &
= 1 3R T | R Nuued S 31 & Ad AT €1 P, PNB
H Tl 7, P 1 4g I i HeRTL & =Afh i 3R Tl 7|

(iv) Q faces the person from Dena Bank. The
one who faces S sits to the immeditate left of A.

Q FTHE ST 5% & =ATH &t IR T a1 g S HT AR,
€ A T 9 A § A7

(v) B does not sit at any of the extreme ends
of the line. The person from Bank of

Mharashtra does not face the person from
Syndiacate Bank.

B Uft & fodt ot erfem SR W T §, 5k 31 Henre &
=it 1 e Figie 3% 3 =ifs #1 SR T
4. Which of the following is true regarding A?
A% gy § frefafed § S aE-maa 72
(A) The person from UCO Bank faces A
UCO 3 & =afth F1Hg A i 3R T
(B) The person from Bank of Maharahstra is an
immedaiate neighbour of A
o SATF HERTSE 1 AT A i ST | o131 T
(C) A faces the person who sits second to rightof R
A 1Y 30 &6 FI IR T, SR & I AT THE R A S
(D) A is from Oriental Bank of Commerce
A Ruved de i wiag 97
S. Whois seated between R and the person from
PNB?
R iR PNB & =4fth & o9 [ 921 § 2
(A) The person from Oriental Bank of
Commerce
SN S SATF Ay H1 ATH

(B) P ©Q (D) S



6. Who amongst the following sit at extreme
ends of the row?
frefafea 8§ @ &1 dfed & f<m SR a2
(A) D and the person from PNB
D 3R PNB &1 &A%
(B) The person from Indian Bank and
UCOBank
3fUEe[ 5% R UCO & & =ATh
(C) The person from Dena Bank and P
3 S 1 A 3R P

(D) The persons from Syndicate Bank and D
fagishe % w1 =6 SR D
7. Who amongst the following faces the person
from Bank of Maharashtra?
foretferfian i & o =1 1 e S T HeRTZ & =
HeRT?
(A) The person from Indian Bank
iU S &1 AfH
B) P
(C) R
(D) The person from Syndicate Bank
foetehe o w1 AM®
8. P is related to Dena Bank in the same way as
B is related to PNB based on the given
arrangement. To who amongst the following
is D related to following the same pattern?

3 T ST % STTHR T P %1 A1 ok § a8 S B, S
B &1 PNB ¥ % 36t Yo o1 STE0 3 gU D o1 e
1 Frefafea § 9 foeas @ 72
(A) Syndicate Bank/fagt®e 5%
(B) Canara Bank /&7 a9
(C) Bank of Maharashtra /& 3% TR
(D) Indian Bank/3frea d&

9. Four of the following five are alike in a
certain way based on the given seating
arrangement and thus form a group. Which is

the one that does not belong to that group?
ST R § I IS & TIM & MER W Freafafea
e T ¥ R ot TR T €, 3HfeT SR T |9 S
T, 9% U - T, S 36 W | TRl ST Q2

(A) Canara Bank /&7 d

(B) R

(C) Syndicate Bank/fGg&e 5i&

(

D) Q
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10. Who amongst the following is from
SyndicateBank?
frefafed & 4 #H faSiee dw 9% ?
(A) C (B) R
(O (D) A
C is from which of the following banks?
C fefafeq # I frasm a g2
(A) Dena Bank
ESIEE]
(B) Oriental Bank of Com
SN e 3 HITH
(C) UCO Bank / UCO &
(D) Canara Bank / &1 5%

Directions (Q. 12 to 16): Read the following
information carefully and give the answers of the

given questions.
fder (9. 129 16 &) : IS TE STHHR T AFYER
AT e ST T Tl o ST o1 —

Four players, Ajay, Babu, Chandu and Devi are
camping in four separate campsite E, P, G and H
(not necessarily in the samne order). On these
four campsites four lakes I, J, K and L are also
situated (not necessarily in the same order),
which are located in four different states MP,
nagaland, Odisha and Punjab (not necessarily in
the same order).

IR fEaTe! o9, 919, 95 T8 18! 91 Jo& HhRe E,
P, G & H SIfeh Tavae el & fh ST wu d &, WA
WE | FT Greed 9R g 3ieii 1, J, K @ L 8 feoa ¥, shfe
3TMavas® T f 36t %9 § & & S 9R g TS MP,
AT BTSN & TS H € TS STavae: Tal o S HH H 2 |

(i) Babu camping on Lake K.
Y 3 K WS F@E
(ii) Campsite H situated on Lake J and located in
Nagaland.

H &0EEe 3iel J W TS % rmeive § feeg )

(iii) In Lake I, the player is from Punjab and
camps in same state.
Fiet [ 7 faenet st &1 ot § e shoet s6 T H S
FAAEN

(iv) Devi is on campsite F.
It FFEES F WR

(v) Ajay is camping in Odisha.
35 Sifewn H vy X @R

12. Whare is Babu camping?
e el TR HE F @ 2
(A) On campsite F/&™EEe F W
(B) In MP/MP #
(C) On Lake L/3@ L W
(D) In Nagaland/Ammeive §

11.
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13. If you arrange the players in alphabetical
order of according to alphabets, then the
correct order of the states related to them will
be

S 39 e ot 3Teh T & JeIeh, 318l & JurHTen A
T AT e I T, AN ST T -2 541 1 Tel SH SRl—
(A) MP, Nagaland, Punjab, Odisha
MP, FTRIVE, G574, Sfifeem
(B) Odisha, MP, Nagaland, Punjab
sifesn, MP, AFRIUE, USTe
(C) Punjab, MP, Nagaland, Odisha
Te, MP, Areive, siifesm
(D) Nagaland, MP, Odisha, Punjab
AMTeUE, MP, sifesn, e
Whose site is Lake I?
EURETER S
(A) Campsite F/&™ERES F
(B) Camp of Ajay/Wﬂﬂ%W
(C) Camp in Odisha/3iifesn & &
(D) Camp of Chandu/ a@a»‘r%m
Which of the following statement is true about
Lake L?
e L & o | -1 HoF T 2
(A) Chandu is camping there
I Tel B B T
(B) Devi is camping there
ot TRl HH FR @R
(C) This is in MP
TEMPH T
(D) Ajay is camping there
TSTT IRT T L @ §
Which of'the following cannot be determined on
the basis of the given information?
T T gEiet & SHR R Frefafea s feior T e
ST Hehdl § 2
(A) In which state is the lake K located?
ore T 9 3 K feora 72
(B) Who's on the campsite E?
HIEEe E W HH §°
(C) Which campsite is there in Punjab?
e H -9 HETEES T2
(D) Who is camping in Nagaland?
TS # I HT R T 8P

14.

15.

16.

Puzzles Test | it G&m

46

information carefully and give the answers of the
given questions.

e (9. 17 921 7%) : TS TE STHHRI Tl AFIEw
AT e ST T Tl o ST ot —

Eight firends A, B, C, D, E, F, G and H travel in
three different cars X, Y and Z to different cities
Delhi, Chandigarh and Agra, in such a way that at
least friends in a car.

smefa A, B, C, D, E, F, G 3iR H 1 - &Rt
X, Y 3R Z T i fa=-fom= wami gen fooett 9€ime &iv e
HI T TWE TR ¢ fF 0 R A F9-F-FA A A

At least one female member in every car. D
travel to Delhi with G, but not in car Y. A travel with
only H in car Z but they are not traveling to
Chandigarh. C neither travel with D nor with E. F
and D study in same women college. H, B and G

study in same boys college.

T R H FH-T-F9 Gfecl G ¥, D, G & 9 feeent
AN FLRE, WY FRA TR A FTAH S MIFRZH
=l @1 € W AUENE &I el C, D a1 E & T¢I Tel L Tl
¥, F a9 D U & ol Afecnsii & ®ios § 199 a1 H, B
G T & hael ASH! & Hlols § STEFIRA & |
17. Which among the following represents the
group of females?

T & Afgensi & g o e fFrefafed § 9 &H s
®2

(A) F,C, A B) F,G, A

(C) Data inadequate /STsTaaTa

(D) None of these /378 ¥ &IE &

Which of the following combination is correct?
Frefafed § & HF-91 9497 98t § 7

(A) Delhi-X-C/feeeft-X-C

(B) Chandigarh-X-F/=Erg-X-F

(C) Agra-Z-E/3TU-Z-E

(D) None of these /374 ¥ &g &

In which four friends are travelling?

STHY TR FIFRF TN TE?

(A) XorZ/XaZ B Y

(C) XorY/XaY

(D) None of these /374 ¥ &g &

In which of the following car C is travelling?
C Fafafen i A fFaFRA TN @ R?

(A) X (B) Y

(C) Either X or Y/A@WXAY

(D) Date inadequate /STl 9ar<

18.

19.

20.



21. Which car's passengers are traveling to

Chandigarh?
fFa s S 9 SENE H AP L @ ?
A) Y B) X

(C) Either Xor Y/ @ X AY

(D) Date inadequate /STl 9

Directions (Q. 22 to 24): Read the following
information carefully and give the answers of the
given questions.

fader (9. 22 9 24 %) : TS TE THER FH AR
AT Hleh ST T Tl o ST ot —

Lalit, Manoj, Narendra, Om and Peter are five
friends. By professions they are Doctor, CA,
Engineer, Advocate and Professor, not necessarily
in the same order. Each of them plays different
instruments, such as Tabla, Sitar, Sarod, Violin
and Harmonium, not necessarily in the same
order. Each of them painted their houses with
different colours, such as Red, Black, Purple, Blue
and Green, not necessarily in the same order. One
person related to only one profession. Each of them
plays only one instrument and likes only one
colour.

Aferd, T, s, 37 Ud el e €1 U9 9 S s, |
T., TSR, Tedmhe Td IR €, g Sk T2l {6 3 STt A
H 2, TTH W e STETT- ST S aTel siSir § | e, faam,
TR, AE, T3 A | 321 3797 =R 757 31 & T 9 Wend
T : A, STl ST, el Td o4 Yoidh AT el T U% |
T~ & | Sheret Teh STel I SISiIdl ¢ U sharel Toh U q8 Ll
gl

Manoj is neither an engineer nor a doctor,
neither he plays Violin or Tabla and also he does
not black colour. The person who is doctor, plays
Sitar and likes green colour. Peter is an advocate,

likes red colour but he does not play Tabla or Sarod.
Om plays Violin and likes purple colour. Narendra

is a CA and painted his house with black colour.

TS 7 A Sl © 7 F ISR 8, 7 A 9 draer Sl
TS qoren, 3/ T 2 el T IHS § 7 E S | SR faar
S & TS 30 B T IHR ¥ | Tt Tk TEakhe & T8 7 il o8 efelt
S © SR 7 E TG SR e T TH< Ll § | 37 St st
T TE S S TTER § | T HLT T TE 39 SO W W
[ TER g |
22. Which color does Manoj like?

TS -1 T 6T HLA © 2

(A) Black/=h1et (B) Green /30

(C) Blue/ren (D) Red /@
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23. Which instrument does peter play?

feX SIFA-H1 AT I Sl § 2

(A) Sarod/® & (B) Harmonium /gMi=H
(C) Tabla/dsen (D) Sitar/f&ar

Who among the following is a Professor?
frefafed # 9 FF-w e g2

(A) Manoj/® s (B) Narendra/<=

(C) Peter/diex (D) Lalit/<ferd

Directions (Q. 25 to 28): Read the following
information carefully and give the answers of the
given questions.

fide1 (9. 25 €28 ) : TS TE AHRN 1 SAFIHH
ST FHileh QU T Tl % ST alford —

P,Q, R, S, T and V live on a separate floor of an
6-floors building. Ground floor is numbered I, first
floor is numbered 2 and so on until the topmost
floor is numbered 6.

P,Q, R, S, T 3R V U% B: HfSTeT TARA | STeT-3TeHT
TS A T €, Hieell o T 8 B: TR § (e TR 1. T, 39
TR AR 2, IR 3T S o TH TE T & TR & a1 T
Sl w1 6. §

Q lives on an even numbered floor. Only two
persons live between the floors on which Q and V
live. S lives on the floor which is just above to the
floor of R. S does not live on odd numbered floor. S
does not live on the floor which is just above to the
floor of T. P does not live on the floor which is just
above or below to the floor of T. P does not live on
the ground floor, i.e. floor no. 1.

Q THEEA dTeht G R @@ g | ST A Q9 V &d
T 37 e el Q1 AT R © | I A MR g, S s
Thed T A WA €| S form s aret 6l W =2l Tear
3, I #f9@ W T WA 8, S 569 THeH ST ! Al T Tal
TEa B | Tre Hfsrel T T T&d1 €, U UhHeH S 1 TheH A=
1 HiSe TR P 781 151 5, P 9ol Tl diee s14iq #isia TR
1. W& @A
25. Who among the following live/s on the floor on
which Q and V live?

59 Sl | Q & V T €, I 3ish sitd =i At W

24.

frafafea # T HH A g ?
(A) R, S (B) P, R
(C) S, T

(D) Can’t be determined/feifia =t foman i gaman
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26. Who among the following lives on floor no. 5?
frefafed § @ &1 6faa 71 5 W@ g ?
(A) P (B) Q
(&Y%
(D) Can’t be determined/feifia ==t foman <t Faman
27. On which floor T lives?

T frAfafea # 9 fa 2fea W Ea g ?
(A) Third/d=d  (B) Fifth/df=at
(C) First /gt

(D) Can’t be determined/feifia =t foman <t gaman
28. How many persons live on the floor above to the

floor of P?

T8 HfS1e T P Yo & 368 SR i Hiee TR foha T

g2

(A) None/®T%E T& (B) One/U&

(C) Two /3

(D) Can't be determined/feifia ==t foman <t waman

Directions (Q. 29 to 33): Read the following
information carefully and give the answers of the

given
questions.

91 (9. 29 ¥ 33 ) : IS TE SR Tl AR
ST FHileh QU T TEAI % ST alford —

A, B, C, D, E, F and G seated in a row facing
north on equadistance (not necessarily in the
same order). Each one of them have different
profession Actor, Reporter, Doctor, Engineer,
Advocate, Teacher and Painter, not necessarily in
the same order. G sits fifth to left of C. Reporter sits
third to the right of G. F sits fifth to the right of A.
E sits second to the left of B. Engineer sits second
to the left of D. Only three persons sit between
Engineer and Artist. Doctor sits immediate left of
Engineer. Advoctae sits immediate right of
Teacher.

A,B,C, D, E, F 3R G ST & 3R J8& % TH Heh
Y@ § 93 € g 78 strerwaes el ¢ fo o6l shm H | moft & wem
TAM O 7 | 370 & e STeT- 31T SaErt, sifveer, fdfex,
TR, SR, ki, ¥1ersh qen fasehR € WAq o8 sTmavash
TEefE s F U8 G, C & 9 ui=al 81 i G & i
TERIF, AR dr=ai ¢ 1 E, B & a0 g8 § | TR, D
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o AT T | SRR IR fosrehr & Aed shae A st €1

N TN & qRd o § | ki, foressh & qrea qrd 2
29. What is the profession of A?
A HTHTEEAFNE ?
(A) Painter/fe=®R (B) Doctor /SR
(C) Teacher/f¥tar (D) Artist/SIfy=an
30. As per the given arrangement, Which of the
following statement is true,
feu U Hafeeio & AR, 191 § § HH-91 Fud wal
®2
(A) Fis a Teacher/F U foer §
(B) F sits third to the left of E/F, E & i de1 ¥
(C) Advocate sits in the middle of the row/
TehIT HATET & ek TeA H 92 §
(D) None of these /U | ¥ &g Tl
31. Who among the following is an Actor?
A dF afmas?
(A) E B) F
(€ C (D) B
32. What is the potion of D with respect to the
Artist?
faR & ¥ § D ®i fafa s e ?
(A) Third to the left/aTd & dExT
(B) Second to the right /< &I Gl
(C) Fourth to the right/3Td T <ren
(D) Second to the left/amd 1 EURY

33. On the basis of the sitting arrangement,
three of the following four are somehow
similar, so they form a group. Which one of the

following does not belong in this group?

TS TM At AN & TR R FAfafed =r & 9 9 fordt

TR TF UM ¥, SHIT 3T T g o s | Fre § 9

T HA-F S SN 56 Y H e A 2

(A) AED (B) DFC

(C) GDB (D) BFC

Directions (Q. 34 to 35): Read the following
information carefully and give the answers of the

given questions.

fder (9. 34 435 %) : T TE THHR B AYER
ST FHileh QU T Tl % ST alford —



Seven friends A, B. C, D, E, G and I study in
three different classes 5th, 6th and 7th. Not less
than two friends study in one class. Each friend
likes a different subject- History, Civics, English,
Marathi, Hindi, Math and Economics, but not

necessarily in the same order.

wafid A, B, C, D, E, G den [ i fafsr=1 swensti 54,
6at qen 741 1§ ugd § | Tl Uk wen A A hy e T € | v
Tt 1 319 U e fawa §, Se-sfaed, i 3re,
SIS, e, fost, wifora qen stefemes aifer stavae T s fF
THHAHI

A likes Math and studies in class Sth with
his friend who likes Marathi. I studies with two
friends. The two friends who study with I, likes
languages (Here, languages means-Hindi, English
and Marathi). D studies in class 6th only with his
friend but does not like Civics. E studies with only
one friend. The person who likes History, does not
study in class Sth or 6th. E does not any language.
C does not like English, Hindi or Civics.

A = IO 9E § 3 9 e 5§ Ued ¥, 3794 39 Th
et & W 518 7t v 1 121 o1 Tl & ot e
TS A, 1 W 9ed €, 3% WO 9E ® | (FRT v #
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T U § TN 3W AR I 96 761 § | E shae U i
% WY I ¢ | 9, T e 76 ¥, AT 5 A Han 6 H T
T § | E I HIE A1 T8< &1 & | C 31 S7sh, fewt qen Amifies
TS 9% Tl 2 |
34. Which of the following options represents favorite
subject and class of E?
= faw e fashedi § & wF-91 fased E & qa<ia fasm
AT ST I T L § 7
(A) Civics and Class 7th /A 3 den 7th
(B) Economics and Class 5th/ 31efeme qer 5th
(C) Civics and Class 6th /A 3T dun 6th

(D) History and Class 6th /g™ qer 6th

35. Which among the following is the favorite

subject of I?
et & | 1 o1 we=ie fov -w e ?
(A) History/3fdee

(B) Civics /AR ¥MEA

(C) Marathi/#Tat

(D) Economics/ 31e¥Te
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